X & B & =%
X & 4% F£38MEitEBEITAO Y EFIEXRES
B # H 2022 (R04) £4R98 (x) ~4A108 (BH)
£ 15 HIEARXZ VR
SN BAF—LE, 21F—L (638)
FEXER tiEEESs
RE-HE HIEARXT VURIIL
P t RH&Fr t R &6 8,153 &
BEL <BARE - KftEz - LFEA
J-TY9/HY—ERX HBJI SZ &R 7,747 &=
bi- -
EFZ <BINNEE- -ELAKXKAE - #IE—>
EBAALH t B 2 &6 7,740 =
£ 3 fI
BFH <WNE—Z - BT - HPFE >
X-BOWL (A) HIFR R FI D 7,622 =
¥ 4 i
EFZ <ABJIFE - A EHM - HEHER>
tiEERR/ANR FLIRZ &R 7.546 =
¥ 5 i
EFZ <ZHRE-FBEE - ktE—B>
= 6 KAt EBEER 8 ERR T % X &R 7,509 =
i3
EFZ <{ERAKRBBIE - =t7 - kB>
=EHEF KFEZ Jt B 2 &f 2,792 =
Jt A& It R X &R 132 &
F—LH/G
EFZ <BARE - KttEz - LFEAR
bt A& It R X &R 2,118 =
F—LH/S
EFZ <BARE - KttEz - LFEAR




